Basarab loop and its variance with inverse properties

Tèmítópé Gbóláhàn Jaiyéolá and Gideon Okon Effiong

Abstract. A loop (Q, \cdot) is called a Basarab loop if the identities: $(x \cdot yx^{\rho})(xz) = x \cdot yz$ and $(yx) \cdot (x^{\lambda}z \cdot x) = yz \cdot x$ hold. It is a special type of a G-loop. It was shown that a Basarab loop (Q, \cdot) has the cross inverse property if and only if (Q, \cdot) is an abelian group or all left (right) translations of (Q, \cdot) are right (left) regular. In a Basarab loop, the following properties are equivalent: flexibility property, right inverse property, left inverse property, inverse property, right alternative property, left alternative property and alternative property. The following were proved: a Basarab loop is a weak inverse property loop if it is flexible such that the middle inner mapping is contained in a permutation group; a Basarab loop is an automorphic inverse property loop if a semi-commutative law is obeyed such that the middle inner mapping is contained in a permutation group; a Basarab loop is an anti-automorphic inverse property loop if every element has a two-sided inverse such that the middle inner mapping is contained in a permutation group; a Basarab loop is a semi-automorphic inverse property loop if the Basarab loop is flexible, the middle inner mapping is contained in a permutation group such that a semi-cross inverse property holds; a Basarab loop with the m-inverse property such that a permutation condition is true is a cross inverse property loop if it is flexible. Necessary and sufficient conditions for a Basarab loop to be of exponent 2 or a centrum square were established.

1. Introduction

Let G be a non-empty set. Define a binary operation (\cdot) on G. If $x \cdot y \in G$ for all $x, y \in G$, then the pair (G, \cdot) is called a *groupoid* or *Magma*.

If each of the equations $a \cdot x = b$ and $y \cdot a = b$ has unique solutions in G for x and y respectively, then (G, \cdot) is called a *quasigroup*.

If there exists a unique element $e \in G$ called the *identity element* such that for all $x \in G$, $x \cdot e = e \cdot x = x$, (G, \cdot) is called a *loop*. We write xy instead of $x \cdot y$, and stipulate that \cdot has lower priority than juxtaposition among factors to be multiplied. For instance, $x \cdot yz$ stands for x(yz).

In a loop (G, \cdot) with identity element e, the *left inverse element* of $x \in G$ is the element $xJ_{\lambda} = x^{\lambda} \in G$ such that $x^{\lambda} \cdot x = e$ while the *right inverse element* of $x \in G$ is the element $xJ_{\rho} = x^{\rho} \in G$ such that $x \cdot x^{\rho} = e$. If $x^{\lambda} = x^{\rho}$ for any $x \in G$, then we simply write $x^{\lambda} = x^{\rho} = x^{-1}$ or $J_{\lambda} = J_{\rho} = J$. Let x be a fixed

²⁰¹⁰ Mathematics Subject Classification: 20N02, 20N05

Keywords: K-loops, Basarab loops, inverse property loops

element in a groupoid (G, \cdot) . The left and right translation maps of G, L_x and R_x respectively can be defined by $yL_x = x \cdot y$ and $yR_x = y \cdot x$.

Since the left and right translation mappings of a quasigroup are bijective, then the inverse mappings L_x^{-1} and R_x^{-1} exist. Let $x \setminus y = yL_x^{-1} = xM_y$ and $x/y = xR_y^{-1} = yM_x^{-1}$ and note that $x \setminus y = z \Leftrightarrow x \cdot z = y$ and $x/y = z \Leftrightarrow z \cdot y = x$. The group of all permutations on G is called the permutation group of G and

denoted by SYM(G). For an overview of the theory of loops, readers may check [9, 10, 12, 13, 14, 16, 30, 31].

The triple (A, B, C) of bijections of a loop (G, \cdot) is called an *autotopism* if $xA \cdot yB = (x \cdot y)C$ for all $x, y \in G$. Such triples form a group $AUT(G, \cdot)$ called the *autotopism group* of (G, \cdot) . Furthermore, if A = B = C, then A is called an automorphism of (G, \cdot) . Such bijections form a group $AUM(G, \cdot)$ called the automorphism group of (G, \cdot) .

Definition 1.1. Let (G, \cdot) be a quasigroup. Then

- 1. $U \in SYM(G)$ is called λ -regular if there exists $(U, I, U) \in AUT(G, \cdot)$; the set of all such mappings forms a group $\Lambda(G, \cdot)$,
- 2. a bijection U is called ρ -regular if there exists $(I, U, U) \in AUT(G, \cdot)$; the set of all such mappings forms a group $\mathcal{P}(G, \cdot)$.

Definition 1.2. A loop (G, \cdot) is said to

- be a left alternative property loop (LAPL) if for all $x, y \in G$, $x \cdot xy = xx \cdot y$,
- be a right alternative property loop (RAPL) if for all $x, y \in G$, $yx \cdot x = y \cdot xx$,
- be an *alternative loop* if it is both left and right alternative,
- be *flexible* or *elastic* if $xy \cdot x = x \cdot yx$ holds for all $x, y \in G$,
- have the *left inverse property* (LIP) if for all $x, y \in G$, $x^{\lambda} \cdot xy = y$,
- have the right inverse property (RIP) if for all $x, y \in G$, $yx \cdot x^{\rho} = y$,
- have the *inverse property* if it has both left and right inverse properties.

There are some classes of loops which do not have the inverse property but have properties which can be considered as variations of the inverse property.

Definition 1.3. A loop (G, \cdot) is called

- a weak inverse property loop (WIPL) if and only if it obeys the identity $x(yx)^{\rho} = y^{\rho}$ or $(xy)^{\lambda}x = y^{\lambda}$ for all $x, y \in G$,
- a cross inverse property loop (CIPL) if it obeys the identity $xy \cdot x^{\rho} = y$ or $x \cdot yx^{\rho} = y$ or $x^{\lambda} \cdot (yx) = y$ or $x^{\lambda}y \cdot x = y$ for all $x, y, \in G$,
- an automorphic inverse property loop (AIPL or D-loop [15]) if it obeys the identity $(xy)^{\rho} = x^{\rho}y^{\rho}$ or $(xy)^{\lambda} = x^{\lambda}y^{\lambda}$ for all $x, y, \in G$,
- an anti-automorphic inverse property loop (AAIPL) if it obeys the identity $(xy)^{\rho} = y^{\rho}x^{\rho}$ or $(xy)^{\lambda} = y^{\lambda}x^{\lambda}$ for all $x, y \in G$,
- a semi-automorphic inverse property loop (SAIPL) if it obeys the identity $(xy \cdot x)^{\rho} = x^{\rho}y^{\rho} \cdot x^{\rho}$ or $(xy \cdot x)^{\lambda} = x^{\lambda}y^{\lambda} \cdot x^{\lambda}$ for all $x, y, \in G$,
- a *m*-inverse property loop where $m \in \mathbb{Z}$ if it obeys any of the equivalent identities $(xy)J_{\rho}^{m} \cdot xJ_{\rho}^{m+1} = yJ_{\rho}^{m}$ and $xJ_{\lambda}^{m+1} \cdot (yx)J_{\lambda}^{m} = yJ_{\lambda}^{m}$.

As observed by Osborn [29], a loop is a WIPL and an AIPL if and only if it is a CIPL. The past efforts of Artzy [1, 2, 3, 4], Belousov and Curkan [11], Keedwell [24], Keedwell and Shcherbacov [25, 26, 27] are of great significance in the study of WIPLs, AIPLs, CIPQs and CIPLs, their generalizations (i.e., *m*-inverse loops and quasigroups, (r, s, t)-inverse quasigroups) and applications to cryptography. These were further generalized to (α, β, γ) -inverse quasigroups by Keedwell and Shcherbacov [28]. Some other contributions to the study of these class of loops and quasigroups can be found in Jaiyeola [17, 18, 19, 21, 22] and Jaiyeola and Adeniran [20].

Definition 1.4. A loop (Q, \cdot) is called a *Basarab loop* (or *K*-loop), if the identities:

$$\underbrace{(x \cdot yx^{\rho}) \cdot xz = x \cdot yz}_{\text{BK1}}, \quad \underbrace{yx \cdot (x^{\lambda}z \cdot x) = yz \cdot x}_{\text{BK2}} \tag{1}$$

hold for all $x, y, z \in Q$. A loop (Q, \cdot) is called an *automorphic inverse property* Basarab loop (or *IK*-loop) means (Q, \cdot) is a Basarab loop and the mapping J of (Q, \cdot) is an automorphism of the loop (Q, \cdot) .

The first publications introducing the class of loop called Basarab loop are the two prominent papers of Basarab [5, 6] in 1992. Later, IK-loops were studied in [7] and [8]. Just of recent, Jaiyéolá and Effiong [23] investigated a Basarab loop and the generators of its total inner mapping group.

Theorem 1.5. (Jaiyéolá and Effiong [23])

Let (Q, \cdot) be a Basarab loop and let $U_x = M_x R_x^{-1}, V_x = M_x^{-1} L_x^{-1}, W_x = R_x M_x$ for any arbitrarily fixed $x \in Q$. The following are true for any $n \in \mathbb{N}$:

1.
$$J_{\rho}^{n} = T_{x}^{-1} U_{x}^{n} T_{x},$$

2. $J_{\lambda}^{n} = T_{x} V_{x}^{n-1} W_{x}^{-1}.$

In this present paper, some properties were investigated in a Basarab loop. The properties in Definition 1.2 were shown to be equivalent to each other. All the properties in Definition 1.3, except one (CIP) were shown to be true provided that some conditions were satisfied; among which is middle inner mapping is contained in a permutation group.

2. Main Results

Lemma 2.1. A loop (Q, \cdot) is a Basarab loop if and only if $(R_{x^{\rho}}L_x, L_x, L_x)$ and (R_x, L_x, R_x) are in $AUT(Q, \cdot)$. Hence, $(T_x^{-1}, L_x, L_x), (R_x, T_x, R_x) \in AUT(Q, \cdot)$.

Proof. Simply put BK1 and BK2 of (1) in autotopic forms. The last part follows from the facts that $T_x^{-1} = R_{x^{\rho}}L_x$ and $T_x = L_{x^{\lambda}}R_x$.

Theorem 2.2. Let (Q, \cdot) be a Basarab loop. The following are equivalent:

- 1. (Q, \cdot) is a cross inverse property loop,
- 2. (Q, \cdot) is commutative,
- 3. (Q, \cdot) is an abelian group,
- 4. $L_x \in \mathcal{P}(Q, \cdot)$ for all $x \in Q$,
- 5. $R_x \in \Lambda(G, \cdot)$ for all $x \in Q$.

Proof. By BK1 of (1), $x \cdot y = (x \cdot yx^{\rho}) \cdot x$. If (Q, \cdot) has the CIP, then $x \cdot y = (x \cdot yx^{\rho}) \cdot x \Rightarrow x \cdot y = y \cdot x$ which implies commutativity. The converse is also true.

By BK1 of (1), $(x \cdot yx^{\rho})(xz) = x \cdot yz$. (Q, \cdot) has CIP if and only if $y \cdot xz = x \cdot yz \Leftrightarrow (Q, \cdot)$ is an abelian group.

By Lemma 2.1, $(T_x^{-1}, L_x, L_x), (R_x, T_x, R_x) \in AUT(Q, \cdot).$

 $(T_x^{-1}, L_x, L_x) \in AUT(Q, \cdot) \Rightarrow (L_x R_x^{-1}, L_x, L_x) \in AUT(Q, \cdot).$ So, (Q, \cdot) is commutative if and only if $L_x \in \mathcal{P}(Q, \cdot)$ for all $x \in Q$.

 $(R_x, T_x, R_x) \in AUT(Q, \cdot) \Rightarrow (R_x, R_x L_x^{-1}, R_x) \in AUT(Q, \cdot).$ So, (Q, \cdot) is commutative if and only if $R_x \in \Lambda(G, \cdot)$ for all $x \in Q$.

Lemma 2.3. Let (Q, \cdot) be a Basarab loop and let $U_x = M_x R_x^{-1}$ and $V_x = M_x^{-1} L_x^{-1}$ be a mapping defined on (Q, \cdot) . Then the following are true for all $x \in Q$:

1. $T_x^{-1} = J_\rho L_x M_x^{-1}$, 2. $T_x = J_\lambda R_x M_x$ and $L_{xJ_\lambda} = J_\lambda R_x U_x$.

Proof. From BK1 of (1), $(x \cdot yx^{\rho}) \cdot xy^{\rho} = x$, we get $x \cdot yx^{\rho} = x/(xy^{\rho}) = (xy^{\rho})M_x^{-1} \Rightarrow yR_{x^{\rho}}L_x = yJ_{\rho}L_xM_x^{-1} \Rightarrow T_x^{-1} = J_{\rho}L_xM_x^{-1}$. From BK2 of (1), we get $(z^{\lambda}x)(x^{\lambda}z \cdot x) = x$. So, $x^{\lambda}z \cdot x = z^{\lambda}x \setminus x \Rightarrow zL_{x^{\lambda}} \cdot x = x^{\lambda}x$

From BK2 of (1), we get $(z^{\lambda}x)(x^{\lambda}z \cdot x) = x$. So, $x^{\lambda}z \cdot x = z^{\lambda}x \setminus x \Rightarrow zL_{x^{\lambda}} \cdot x = (z^{\lambda}x)M_x \Rightarrow zL_{x^{\lambda}}R_x = zJ_{\lambda}R_xM_x \Rightarrow L_{x^{\lambda}}R_x = J_{\lambda}R_xM_x \Rightarrow L_{xJ_{\lambda}}R_x = J_{\lambda}R_xM_x \Rightarrow T_x = J_{\lambda}R_xM_x$.

 $T_x = J_\lambda R_x M_x \Rightarrow L_{xJ_\lambda} R_x = J_\lambda R_x M_x \Rightarrow L_{xJ_\lambda} R_x R_x^{-1} = J_\lambda R_x M_x R_x^{-1} \Rightarrow L_{xJ_\lambda} = J_\lambda R_x M_x R_x^{-1} \Rightarrow L_{xJ_\lambda} = J_\lambda R_x M_x R_x^{-1} \Rightarrow L_x R_x R_x^{-1} \Rightarrow L_x R_x R_x R_x^{-1} = R_x R_x R_x R_x^{-1} = R_x R_x R_x R_x^{-1} = R_x^$

Theorem 2.4. Let (Q, \cdot) be a Basarab loop and let $U_x = M_x R_x^{-1}, V_x = M_x^{-1} L_x^{-1}$ for any arbitrarily fixed $x \in Q$. The following are equivalent.

- 1. Flexibility.
- 2. Right inverse property.
- 3. Left inverse property.
- 4. Inverse property.
- 5. $L_{y^{\lambda} \cdot y^2} = L_{y^{\lambda}}^{-1} \quad \forall y \in Q.$
- 6. $R_{y^2 \cdot y^{\rho}} = R_{y^{\rho}}^{-1} \ \forall \ y \in Q.$
- 7. $L_{u^{\lambda}}L_{u^{\lambda}}u^2 = I = R_{u^{\rho}}R_{(u^2 \cdot u^{\rho})} \quad \forall y \in Q.$
- 8. Right alternative property.
- 9. Left alternative property.

10. Alternative property.

- 11. V_x : $y \mapsto (x \setminus y)^{\lambda} / x$.
- 12. U_x : $y \mapsto x \setminus (y/x)^{\rho}$.
- 13. V_x : $y \mapsto (x \setminus y)^{\lambda} / x$ and U_x : $y \mapsto x \setminus (y/x)^{\rho}$.
- 14. $x \cdot yx^{\rho} = xy \cdot x^{\lambda}$.
- 15. $x^{\rho} \cdot zx = x^{\lambda}z \cdot x$.
- 16. $x \cdot yx^{\rho} = xy \cdot x^{\lambda}$ and $x^{\rho} \cdot zx = x^{\lambda}z \cdot x$.

Proof. 1 \Leftrightarrow 2. By Lemma 2.1, $R_{x^{\rho}}L_xR_x = L_x \Leftrightarrow R_{x^{\rho}} = L_xR_x^{-1}L_x^{-1}$. If (Q, \cdot) is flexible, then $R_{x^{\rho}} = L_xR_x^{-1}L_x^{-1} = L_x(L_xR_x)^{-1} = L_x(R_xL_x)^{-1} = L_xL_x^{-1}R_x^{-1} = R_x^{-1} \Rightarrow R_{x^{\rho}} = R_x^{-1} \Rightarrow yx \cdot x^{\rho} = y \Rightarrow \text{RIP}.$

Conversely, if (Q, \cdot) has the RIP, then $R_{x^{\rho}} = R_x^{-1} \Rightarrow R_x^{-1} = L_x R_x^{-1} L_x^{-1} \Rightarrow L_x R_x = R_x L_x \Rightarrow$ flexibility.

 $\begin{array}{l}1 \Leftrightarrow 3. \text{ By Lemma 2.1, } L_{x^{\lambda}}R_{x}L_{x} = R_{x} \Leftrightarrow L_{xJ_{\lambda}} = R_{x}L_{x}^{-1}R_{x}^{-1}. \text{ If } (Q, \cdot),\\ \text{then } L_{xJ_{\lambda}} = R_{x}L_{x}^{-1}R_{x}^{-1} = R_{x}(R_{x}L_{x})^{-1} = R_{x}(L_{x}R_{x})^{-1} = R_{x}R_{x}^{-1}L_{x}^{-1} = L_{x}^{-1} \Rightarrow L_{x^{\lambda}} = L_{x}^{-1} \Rightarrow x^{\lambda} \cdot xy = y \Rightarrow \text{LIP.}\end{array}$

Conversely, if (Q, \cdot) has the LIP, then, $L_x^{-1} = R_x L_x^{-1} R_x^{-1} \Leftrightarrow L_x^{-1} R_x = R_x L_x^{-1} \Leftrightarrow R_x L_x = L_x R_x \Rightarrow$ flexibility.

 $1 \Leftrightarrow 4$. This follows from $1 \Leftrightarrow 2$ and $1 \Leftrightarrow 3$.

 $3 \Leftrightarrow 5$. Put $x = y^{\lambda}$ into BK2 of (1) to get $(y^{\lambda} \cdot yy)(y^{\lambda}z) = y^{\lambda} \cdot yz$. Thus, (Q, \cdot) has the LIP $\Leftrightarrow (y^{\lambda} \cdot yy)(y^{\lambda}z) = z \Leftrightarrow L_{y^{\lambda}.y^2} = L_{y^{\lambda}}^{-1}$.

 $2 \Leftrightarrow 6$. Put $x = z^{\rho}$ in BK1 of (1) to get $(yz^{\rho})(zz \cdot z^{\rho}) = yz \cdot z^{\rho}$. Thus, (Q, \cdot) has the RIP $\Leftrightarrow (yz^{\rho})(zz \cdot z^{\rho}) = y \Leftrightarrow R_{z^2 \cdot z^{\rho}} = R_{z^{\rho}}^{-1}$.

 $4 \Leftrightarrow 7$. This follows from $3 \Leftrightarrow 5$ and $2 \Leftrightarrow 6$.

 $1 \Leftrightarrow 8. \text{ Put } z = x \text{ in BK1 of } (1) \text{ to get } (x \cdot yx^{\rho})(xx) = x \cdot yx. \text{ Then, } (Q, \cdot) \text{ is flexible} \Leftrightarrow (x \cdot yx^{\rho})x^2 = xy \cdot x \Leftrightarrow yR_{x^{\rho}}L_xR_{x^2} = yL_xR_x \Leftrightarrow L_xR_x^{-1}R_{x^2} = L_xR_x \Leftrightarrow R_{x^2} = R_xR_x \Leftrightarrow yx^2 = yx \cdot x \Leftrightarrow (Q, \cdot) \text{ has RAP.}$

 $1 \Leftrightarrow 9. \text{Put } y = x \text{ in BK2 of } (1) \text{ to get } (xx)(x^{\lambda}z \cdot x) = xz \cdot x. \text{ Then, } (Q, \cdot) \text{ is flexible} \Leftrightarrow (xx)(x^{\lambda}z \cdot x) = x \cdot zx \Leftrightarrow zL_{x^{\lambda}}R_{x}L_{x^{2}} = zR_{x}L_{x} \Leftrightarrow L_{x^{\lambda}}R_{x}L_{x^{2}} = R_{x}L_{x} \Leftrightarrow R_{x}L_{x^{2}} = R_{x}L_{x} \Leftrightarrow L_{x^{2}} = R_{x}L_{x} \Leftrightarrow L_{x^{2}} = L_{x}^{2} \Leftrightarrow x^{2}y = x \cdot xy \Leftrightarrow (Q, \cdot) \text{ has LAP.}$

 $1 \Leftrightarrow 10$. This follows from $1 \Leftrightarrow 8$ and $1 \Leftrightarrow 9$.

 $\begin{array}{l} 2 \Leftrightarrow 11. \text{ By 1 of Lemma 2.3, } T_x^{-1} = R_{x^{\rho}}L_x = J_{\rho}L_x M_x^{-1} \Rightarrow R_{x^{\rho}} = J_{\rho}L_x M_x^{-1}L_x^{-1} \\ \Rightarrow R_{x^{\rho}} = J_{\rho}L_x V_x. \text{ Thus, } (Q, \cdot) \text{ has the RIP if and only if } R_x^{-1} = R_{x^{\rho}} \Leftrightarrow R_x^{-1} = J_{\rho}L_x V_x \Leftrightarrow I = R_x J_{\rho}L_x V_x \Leftrightarrow y = \big[x \cdot (yx)^{\rho}\big] V_x \Leftrightarrow V_x \ : \ y \mapsto (x \backslash y)^{\lambda}/x. \\ 3 \Leftrightarrow 12. \text{ By 2 of Lemma 2.3, } L_{xJ_{\lambda}} = J_{\lambda}R_x U_x. \text{ Thus, } (Q, \cdot) \text{ has the LIP if and} \end{array}$

 $3 \Leftrightarrow 12.$ By 2 of Lemma 2.3, $L_{xJ_{\lambda}} = J_{\lambda}R_xU_x$. Thus, (Q, \cdot) has the LIP if and only if $J_{\lambda} = L_x^{-1} \Leftrightarrow L_x^{-1} = J_{\lambda}R_xU_x \Leftrightarrow I = L_xJ_{\lambda}R_xU_x \Leftrightarrow y = [(xy)^{\lambda} \cdot x]U_x \Leftrightarrow U_x : y \mapsto x \setminus (y/x)^{\rho}$.

 $4 \Leftrightarrow 13$. This follows from $2 \Leftrightarrow 11$ and $3 \Leftrightarrow 12$.

 $2 \Leftrightarrow 14$. From BK1 of (1), $(x \cdot yx^{\rho})x = xy$. So, $x \cdot yx^{\rho} = xy \cdot x^{\lambda} \Leftrightarrow (xy \cdot x^{\lambda})x = xy \Leftrightarrow \text{RIP hold.}$

 $3 \Leftrightarrow 15$. From BK2 of (1), $x(x^{\lambda}z \cdot x) = zx$. So, $x^{\rho} \cdot zx = x^{\lambda}z \cdot x \Leftrightarrow x(x^{\rho} \cdot zx) = zx \Leftrightarrow \text{LIP hold.}$

 $4 \Leftrightarrow 16$. This follows from $2 \Leftrightarrow 14$ and $3 \Leftrightarrow 15$.

Theorem 2.5. Let $Q_{\rho}^{\lambda} = \{A \in SYM(Q) : J_{\lambda}AJ_{\rho} = A\}$, where (Q, \cdot) is a Basarab loop.

- 1. Then, any two of the following implies the third:
 - (a) (Q, \cdot) is a WIPL,
 - (b) $T_x \in Q^{\lambda}_{\rho} \leq SYM(Q),$
 - (c) (Q, \cdot) is flexible.
- 2. Then, any two of the following implies the third:
 - (a) (Q, \cdot) is an AIPL,
 - (b) $T_x \in Q^{\lambda}_{\rho} \leq SYM(Q)$,
 - (c) $yx^{\rho} = x^{\lambda}y$ for all $x, y \in Q$.
- 3. Then, any two of the following implies the third:
 - (a) (Q, \cdot) is an AAIPL,
 - (b) $T_x \in Q^{\lambda}_{\rho} \leqslant SYM(Q),$
 - (c) $x^{\lambda} = x^{\rho}$ for all $x \in Q$.
- 4. Then, any three of the following implies the fourth:
 - (a) (Q, \cdot) is an SAIPL,
 - (b) $T_x^{-1}L_x \in Q_\rho^\lambda \leq SYM(Q),$
 - (c) (Q, \cdot) is flexible,
 - (d) $x \cdot yx = y$ for all $x, y \in Q$.
- 5. Suppose that (Q, \cdot) is an m-IPL such that $U_x^m T_x = I$ $(W_x = V_x^{m-1})$ for all $x \in Q$. Then, (Q, \cdot) is flexible if and only if (Q, \cdot) obeys $x \cdot yx^{\lambda} = y$ $(x^{\rho}y \cdot x = y)$. Hence, (Q, \cdot) is a CIPL.

Proof. From Lemma 2.3, we have the mappings $M_x = T_x J_\rho L_x$ and $M_x^{-1} = T_x^{-1} J_\lambda R_x$. So, $M_x^{-1} M_x = T_x^{-1} J_\lambda R_x T_x J_\rho L_x = I \Rightarrow J_\lambda R_x T_x J_\rho L_x = T_x \Rightarrow$

$$J_{\lambda}R_xT_xJ_{\rho}L_x = T_x \tag{2}$$

1. (Q, \cdot) is a WIPL $\Leftrightarrow (xy)^{\lambda}x = y^{\lambda} \Leftrightarrow L_x J_{\lambda} R_x = J_{\lambda}$. From (2), we have $L_x J_{\lambda} R_x T_x J_{\rho} L_x = L_x T_x$. If (Q, \cdot) is a WIPL, then $J_{\lambda} T_x J_{\rho} L_x = L_x T_x$. With flexibility, $J_{\lambda} T_x J_{\rho} = T_x \Rightarrow T_x \in Q_{\rho}^{\lambda}$. So, (a) and (c) implies (b). The other two implications are similarly deduced.

2. (Q, \cdot) is a AIPL $\Leftrightarrow (xy)^{\rho} = x^{\rho} \cdot y^{\rho} \Leftrightarrow R_{y^{\rho}} = J_{\lambda}R_{y}J_{\rho}$. From (2), we have $J_{\lambda}R_{x}J_{\rho}J_{\lambda}T_{x}J_{\rho}L_{x} = T_{x}$. If (Q, \cdot) is a AIPL, then, $R_{x^{\rho}}J_{\lambda}T_{x}J_{\rho}L_{x} = T_{x}$. Furthermore, if $T_{x} \in Q_{\rho}^{\lambda}$, then $R_{x^{\rho}}T_{x}L_{x} = T_{x} \Rightarrow R_{x^{\rho}}R_{x} = L_{x^{\lambda}}R_{x} \Rightarrow yx^{\rho} = x^{\lambda}y$. So, (a) and (b) implies (c). The other two implications are similarly deduced.

3. (Q, \cdot) is a AAIPL $\Leftrightarrow x^{\rho} \cdot y^{\rho} = (yx)^{\rho} \Leftrightarrow L_{x^{\rho}} = J_{\lambda}R_{x}J_{\rho} \Leftrightarrow$. From (2), we have $J_{\lambda}R_{x}J_{\rho}J_{\lambda}T_{x}J_{\rho}L_{x} = T_{x}$. If (Q, \cdot) is a AIPL and $T_{x} \in Q_{\rho}^{\lambda}$, then, $L_{x^{\rho}}T_{x}L_{x} = T_{x} \Rightarrow L_{x^{\rho}}R_{x} = T_{x} \Rightarrow L_{x^{\rho}}R_{x} = L_{x^{\lambda}}R_{x} \Rightarrow x^{\rho} = x^{\lambda}$. So, (a) and (b) implies (c). The other two implications are similarly deduced.

4. (Q, \cdot) is a SAIPL $\Leftrightarrow x^{\rho} \cdot y^{\rho} x^{\rho} = (x \cdot yx)^{\rho} \Leftrightarrow R_{x^{\rho}} L_{x^{\rho}} = J_{\lambda} R_x L_x J_{\rho}$. From (2), we have $J_{\lambda} R_x = T_x L_x^{-1} J_{\lambda} T_x^{-1} \Rightarrow J_{\lambda} R_x L_x J_{\rho} = T_x L_x^{-1} J_{\lambda} T_x^{-1} L_x J_{\rho}$. If $T_x^{-1} L_x \in Q_{\rho}^{\lambda}$, then $J_{\lambda} R_x L_x J_{\rho} = T_x L_x^{-1} T_x^{-1} L_x = T_x R_x^{-1} L_x$. Furthermore, if (Q, \cdot) is a SAIPL and flexible, then $R_{x^{\rho}} L_{x^{\rho}} = T_x R_x^{-1} L_x = R_x (R_x L_x)^{-1} L_x = R_x (L_x R_x)^{-1} L_x$ $= I \Rightarrow R_{x^{\rho}} L_{x^{\rho}} = I \Rightarrow x \cdot yx = y$. So, (a), (b) and (c) implies (d). The other three implications are similarly deduced.

5. From Theorem 1.5, the following are

$$J_{\rho}^{n} = T_{x}^{-1} U_{x}^{n} T_{x}$$
 and $J_{\lambda}^{n} = T_{x} V_{x}^{n-1} W_{x}^{-1}$

true for any $n \in \mathbb{N}$ and for any arbitrarily fixed $x \in Q$.

If (Q, \cdot) a *m*-inverse property loop where $m \in \mathbb{Z}$, then $(xy)J_{\rho}^{m} \cdot xJ_{\rho}^{m+1} = yJ_{\rho}^{m} \Leftrightarrow J_{\rho}^{m} = L_{x}J_{\rho}^{m}R_{xJ_{\rho}^{m+1}}$. So,

$$\begin{array}{c} T_x^{-1}U_x^m T_x = L_x T_x^{-1}U_x^m T_x R_{xT_x^{-1}U_x^{m+1}T_x} \Rightarrow \\ R_x^{-1}U_x^m T_x = L_x R_x^{-1}U_x^m T_x R_{xT_x^{-1}U_x^{m+1}T_x} \Rightarrow \\ (R_x L_x)^{-1}U_x^m T_x = R_x^{-1}U_x^m T_x R_{xT_x^{-1}U_x^{m+1}T_x} & \Longrightarrow \\ (L_x R_x)^{-1}U_x^m T_x = R_x^{-1}U_x^m T_x R_{xT_x^{-1}U_x^{m+1}T_x} \Rightarrow \\ L_x^{-1}U_x^m T_x = U_x^m T_x R_{xT_x^{-1}U_x^{m+1}T_x} \end{array}$$

Hence, with $U_x^m T_x = I$, $R_{xT_x^{-1}U_x} L_x = I \Rightarrow x(y \cdot xT_x^{-1}M_xR_x^{-1}) = y \Rightarrow x \cdot yx^{\lambda} = y$. The converse follows by doing a reverse. Thus, (Q, \cdot) is flexible if and only if (Q, \cdot) obeys $x \cdot yx^{\lambda} = y$. The proof for the second case is similar by using $J_{\lambda}^m = T_x V_x^{m-1} W_x^{-1}$ in $J_{\lambda}^m = R_x J_{\lambda}^m L_{xJ_{\lambda}^{m+1}}$.

Theorem 2.6. Let (Q, \cdot) be a Basarab loop.

- 1. If $x^{\lambda} = x^{\rho}$, $|T_x| = |M_x| = 2$, then (Q, \cdot) is commutative.
- 2. Any two of the following implies the third for all $x \in Q$:
 - (a) (Q, \cdot) is commutative,
 - (b) $x^{\lambda} = x^{\rho}$,
 - (c) $T_r^2 = M_r^2$.
- 3. If (Q, \cdot) is commutative, then, any two of the following implies the third for all $x \in Q$:
 - (a) $x^{\lambda} = x^{\rho}$,
 - (b) $|T_x| = 2$,
 - (c) $|M_x| = 2.$

- 4. (Q, \cdot) is centrum square if and only if $(x \cdot yx^{\rho})(xy) = (yx)(x^{\lambda}y \cdot x)$.
- 5. The following are equivalent:
 - (a) (Q, \cdot) is of exponent 2,
 - (b) $M_x = R_x$,
 - (c) $M_x = L_x^{-1}$.
- 6. If (Q, \cdot) has the LSIP (RSIP), then
 - (a) $x^{\lambda} = x^{\rho}$,
 - (b) (Q, \cdot) has the LIP (RIP) if and only if $x \cdot x^{\lambda} z = z \ (zx^{\rho} \cdot x = z)$.

Proof. From Lemma 2.3, we have $L_x = J_\lambda T_x^{-1} M_x$ and $R_x = J_\rho T_x M_x^{-1}$.

1. If $x^{\lambda} = x^{\rho}$ and $|T_x| = |M_x| = 2$, then $L_x = J_{\lambda}T_xM_x = J_{\rho}T_xM_x^{-1} = R_x$. So, (Q, \cdot) is commutative.

2. If (Q, \cdot) is commutative, then $L_x = R_x \Rightarrow J_{\lambda}T_x^{-1}M_x = R_x = J_{\rho}T_xM_x^{-1}$. Furthermore, $J_{\lambda} = J_{\rho} \Rightarrow T_x^2 = M_x^2$. So, (a) and (b) implies (c). The other two implications are similarly deduced.

3. This is similar to 2.

4. Substitute z = y into BK1 and BK2 of (1) to get

$$\underbrace{(x \cdot yx^{\rho}) \cdot xy = x \cdot yy}_{\mathbf{a}}, \quad \underbrace{yx \cdot (x^{\lambda}y \cdot x) = yy \cdot x}_{\mathbf{b}}$$
(3)

respectively. Hence, the claim.

5. Going by (3)(a), (Q, \cdot) is of exponent 2 if and only if $x \cdot yx^{\rho} = x/xy = xR_{xy}^{-1} = (xy)M_x^{-1} \Leftrightarrow R_{x^{\rho}}L_x = L_xM_x^{-1} \Leftrightarrow T_x^{-1} = L_xM_x^{-1} \Leftrightarrow L_xR_x^{-1} = L_xM_x^{-1} \Leftrightarrow M_x = R_x.$

Going by (3)(b), (Q, \cdot) is of exponent 2 if and only if $x^{\lambda}z \cdot x = yx \setminus x = xL_{yx}^{-1} = (yx)M_x = yR_xM_x \Leftrightarrow L_{x^{\lambda}}R_x = R_xM_x \Leftrightarrow T_x = R_xM_x \Leftrightarrow R_xL_x^{-1} = R_xM_x \Leftrightarrow M_x = L_x^{-1}$.

6. (Q, \cdot) has the LSIP if $x^{\lambda} \cdot xx = x$ and RSIP if $xx \cdot x^{\rho} = x$. Substitute $x = y^{\lambda}$ and $x = z^{\rho}$ into BK1 and BK2 of (1) respectively to get

$$\underbrace{(y^{\lambda} \cdot yy) \cdot y^{\lambda} z = y^{\lambda} \cdot yz}_{\mathbf{a}}, \quad \underbrace{yz^{\rho} \cdot (zz \cdot z^{\rho}) = yz \cdot z^{\rho}}_{\mathbf{b}} \tag{4}$$

(i) If (Q, \cdot) has the LSIP, then by (4)(a), $y \cdot y^{\lambda} z = y^{\lambda} \cdot y z$. So, substituting $z = e, y^{\lambda} = y^{\rho}$. A similar proof goes for when (Q, \cdot) is a RSIP by using (4)(b).

(*ii*) If (Q, \cdot) has the LSIP (RSIP), then by (4)(a)((b)), (Q, \cdot) has the LIP (RIP) if and only if $x \cdot x^{\lambda} z = z$ ($zx^{\rho} \cdot x = z$).

References

- R. Artzy, On loops with special property, Proc. Amer. Math. Soc. 6 (1955), 448 453.
- [2] R. Artzy, Crossed inverse and related loops, Trans. Amer. Math. Soc. 91 (1959), 480-492.
- [3] R. Artzy, On automorphic-inverse properties in loops, Proc. Amer. Math. Soc. 10 (1959), 588 - 591.
- [4] R. Artzy, Inverse-cycles in weak-inverse loops, Proc. Amer. Math. Soc. 68 (1978), 132-134.
- [5] A.S. Basarab, Non-associative extentions of groups by means of abelian groups, Proc. Intern. Conf. On Group Theory, Timishoara, (1992), 6-10.
- [6] A.S. Basarab, K-loops, (Russian), Buletinul AS Rep. Moldova, Ser. Matematica 1(7) (1992), 28 - 33.
- [7] A.S. Basarab, Generalized Moufang G-loops, Quasigroups and Related Systems, 3 (1996), 1-5.
- [8] A.S. Basarab, IK-loops, Quasigroups and Related System, 4 (1997), 1-7.
- [9] V.D. Belousov, Foundations of the theory of quasigroups and loops, (Russian) "Nauka", Moscow, (1967).
- [10] V.D. Belousov, The group associated with a quasigroup, (Russian), Mat. Issled. 4 (1969), no. 3, 21-39.
- [11] V.D. Belousov and B.V. Curkan, Crossed-inverse quasigroups (CI-quasigroups), (Russian) Izv. Vys. Ucebn. Zaved. Matematika, 82 (1969), no. 3, 21 - 27.
- [12] R.H. Bruck, A survey of binary systems, Springer-Verlag, Berlin-Göttingen-Heidelberg, (1966).
- [13] O. Chein, H.O. Pflugfelder and J.D.H. Smith, Quasigroups and loops : Theory and applications, Heldermann Verlag, (1990).
- [14] J. Dénes and A.D. Keedwell, Latin squares and their applications, Akadémiai Kiadó, Budapest, (1974).
- [15] I.I. Deriyenko and W.A. Dudek, *D-loops*, Quasigroups and Related Systems, 20 (2012), 183-196.
- [16] E.G. Goodaire, E. Jespers and C.P. Milies, Alternative loop rings, North-Holland Math. Stud., 184 (1996).
- [17] T.G. Jaiyeola, An holomorphic study of Smarandache automorphic and cross inverse property loops, Scientia Magna J., 4 (2008), 102 - 108.
- [18] T.G. Jaiyeola, A double cryptography using the Smarandache Keedwell cross inverse quasigroup, Intern. J. Math. Combin., 3 (2008), 28-33.
- [19] T.G. Jaiyeola, Some isotopy-isomorphy conditions for m-inverse quasigroups and loops, Analele Stii. Univ. Ovidius Constanta, Ser. Matematica, 16 (2008), no. 2, 57-66.
- [20] T.G. Jaiyeola and J.O. Adeniran, Weak inverse property loops and some isotopyisomorphy properties, Acta Univ. Apulensis Math.-Inform., 18 (2009), 19-33.

- [21] T.G. Jaiyeola, On middle universal weak and cross inverse property loops with equal length of inverse cycles, Revista Colombiana Mat., 44 (2010), 479-89.
- [22] T.G. Jaiyeola, On middle universal m-inverse quasigroups and their applications to cryptography, Analele Univ. De Vest Din Timisoara, Ser. Mat.-Inform., 49 (2011), 69-87.
- [23] T.G. Jaiyéolá and G.O. Effiong, Basarab loop and the generators of its total multiplication group, pre-print.
- [24] A.D. Keedwell, Crossed-inverse quasigroups with long inverse cycles and applications to cryptography, Austral. J. Combin. 20 (1999), 241 – 250.
- [25] A.D. Keedwell and V.A. Shcherbacov, On m-inverse loops and quasigroups with a long inverse cycle, Austral. J. Combin. 26 (2002), 99-119.
- [26] A.D. Keedwell and V.A. Shcherbacov, Construction and properties of (r, s, t)-inverse quasigroups I, Discrete Math. 266 (2003), 275 291.
- [27] A.D. Keedwell and V.A. Shcherbacov, Construction and properties of (r, s, t)inverse quasigroups II, Discrete Math. 288 (2004), 61 - 71.
- [28] A.D. Keedwell and V.A. Shcherbacov, Quasigroups with an inverse property and generalized parastrophic identities, Quasigroups and Related Systems 13 (2005), 109-124.
- [29] J.M. Osborn, Loops with the weak inverse property, Pac. J. Math. 10 (1961), 295-304.
- [30] H.O. Pflugfelder, Quasigroups and loops: Introduction, Sigma series in Pure Math. 7, Heldermann Verlag, Berlin, (1990).
- [31] J.D.H. Smith, An introduction to quasigroups and their representations, Taylor and Francis Group, (2007).

Received January 26, 2018

Department of Mathematics, Obafemi Awolowo University, Ile Ife 220005, Nigeria. E-mails: jaiyeolatemitope@yahoo.com, tjayeola@oauife.edu.ng (Jaiyeola) gideon effiong@yahoo.com, gideonoeffiong@gmail.com (Effiong)